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1. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2010, 3H Q4:  4 Marks
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*P44614A0420*

2 

 The diagram shows a circle inside a rectangle.

 Work out the area of the shaded region.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . .cm2

(Total for Question 2 is 3 marks)

3 A bag contains only red counters, blue counters and yellow counters.
 The number of red counters in the bag is the same as the number of blue counters.

 Mikhail takes at random a counter from the bag.
 The probability that the counter is yellow is 0.3

 Work out the probability that the counter Mikhail takes is red.

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 3 is 3 marks)

8 cm

32 cm

17 cm

Diagram NOT 
accurately drawn

2. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 4H Q2:  3 Marks



Leave
blank

4N17226A

3.

The shape ABCDE is the plan of a field.

AB = 150 m, BC = 90 m, CD = 70 m and EA = 110 m.

The corners at A, B and C are right angles.

Work out the area of the field.

.................... m2
Q3

(Total 4 marks)

Diagram NOT

accurately drawn

B

E

C

A

D
110 m

150 m

90 m

70 m

3. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2004, 4H Q3:  4 Marks
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*P44613A0524* Turn over     

4 The diagram shows a shape with one line of symmetry.

 Work out the area of the shape.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(Total for Question 4 is 4 marks)

Diagram NOT 
accurately drawn

12 cm

15 cm

4 cm

10 cm

4. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3H Q4:  4 Marks
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5

� 7KH�GLDJUDP�VKRZV�D�PHWDO�SODWH�LQ�WKH�VKDSH�RI�D�UHFWDQJOH�
� 7KH�UHFWDQJOH�KDV�OHQJWK����FP�DQG�ZLGWK����FP�
� 7ZR�LGHQWLFDO�FLUFOHV��HDFK�RI�GLDPHWHU���FP��KDYH�EHHQ�FXW�RXW�RI�WKH�SODWH�

� :RUN�RXW�WKH�DUHD�RI�WKH�VKDGHG�UHJLRQ�RI�WKH�PHWDO�SODWH�
 Give your answer correct to the nearest cm�.

. . . . . . . . . . . . . . . . . . . . . . . . . . . .  cm�

(Total for Question 5 is 4 marks)

Do NOT write in this space.

���FP 6 cm

���FP

6 cm

Diagram NOT 
DFFXUDWHO\�GUDZQ

5. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4HR Q5:  4 Marks
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5 Here are a rectangle and a square.

Diagram NOT 
accurately drawn8 cm

Area = 48 cm2

 The rectangle has length 8 cm and area 48 cm2

 The perimeter of the square is the same as the perimeter of the rectangle.

 Calculate the area of the square.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  cm2

(Total for Question 5 is 4 marks)

6. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4HR Q5:  4 Marks
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7. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2007, 4H Q5:  5 Marks
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8. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2007, 3H Q5:  6 Marks



1'#O'+

N.#&Q

Y

!"#$%&#'%(&%! ;>:')&K7:

QE+ 6#7+ 9#.@,.#5'+5K'+@%(@,$?'('&@'+-?+#+@%(@.'+-?+(#2%,*+AG+$;

+ + a%O'+/-,(+#&*P'(+@-(('@5+5-+W+*%8&%?%@#&5+?%8,('*;

+ + + +;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;+$

HIJ

+ 6N7

+

+ 0K'+2%#8(#$+*K-P*+#+@%(@.'+%&*%2'+#+('@5#&8.';

+ 0K'+('@5#&8.'+K#*+.'&85K+DG+@$+#&2+P%25K+X+@$;

+ 0K'+(#2%,*+-?+5K'+@%(@.'+%*+W+@$;

+ 9#.@,.#5'+5K'+#('#+-?+5K'+*K#2'2+('8%-&;

+ a%O'+/-,(+#&*P'(+@-(('@5+5-+W+*%8&%?%@#&5+?%8,('*;

+ + + +;;;;;;;;;;;;;;;;;;;;;;;;;;;;; +@$F

H!J

10 cm Diagram NOT
accurately drawn 

8 cm 3cm 

OQ

H;&/,<)R)-,:M0J

9. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2009, 4H Q5:  6 Marks
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*P40660A0824*

7

Diagram NOT
accurately drawn

NA B

CD

9 cm 5 cm

 The shape ABCD is made from a rectangle ANCD  
and the right-angled triangle NBC. 
ANB is a straight line. 
AN = 9 cm. 
NB = 5 cm. 
The area of rectangle ANCD is 36 cm2

 Work out the area of shape ABCD.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(Total for Question 7 is 4 marks)

Do NOT write in this space.

10. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2012, 3H Q7:  4 Marks



6

*P41036A0620*

7 16 cm

4 cm

9 cm

10 cm

Diagram NOT 
accurately drawn

 The diagram shows a shape.

 Work out the area of the shape.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  cm2

(Total for Question 7 is 4 marks)

8 (a) Factorise n2 + 8n

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (b) Expand and simplify 3(2x!"!#$!"!%&x + 3)

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (c) Expand and simplify (y + 7)(y + 2)

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 8 is 6 marks)

11. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2013, 4H Q7:  4 Marks
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*P42941A0820*

7 A square hole is cut from a circular piece of card.

 The square has sides of length 3.2 cm.
 The diameter of the circular piece of card is 10 cm.

 Work out the area of the shaded region.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(Total for Question 7 is 4 marks)

8 Express  825  as a product of its prime factors.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 8 is 3 marks)

Diagram NOT 
accurately drawn

3.2 cm

3.2 cm

10 cm

12. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 4H Q7:  4 Marks
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8

*H34884A0824*

7. (a) Calculate the circumference of a circle of radius 30 cm.
  Give your answer correct to 3 significant figures.

  ............................... cm
(2)

 (b) The diagram shows a circle with radius 2.1 cm inside a square.
  The circle touches the sides of the square.

  Work out the shaded area.
  Give your answer correct to 3 significant figures.

  ...............................  cm2

(4) Q7

(Total 6 marks)

Diagram NOT
accurately drawn

2.1 cm

13. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2009, 3H Q7:  6 Marks
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*P45841A01124* Turn over     
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10 The diagram shows a circle inside a rectangle.

2.5 cm

13.8 cm

7.6 cm

Diagram NOT 
accurately drawn

 Work out the area of the shaded region.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(Total for Question 10 is 3 marks)

14. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2016, 3H Q10:  3 Marks
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*P42933A0920* Turn over     

10 The diagram shows the path of an athlete on a running track.

 The path consists of two straight lengths and a semicircle at each end.
 Each straight length is 85 metres.
 Each semicircle has a radius of 36.6 metres.

 Calculate the area enclosed by the path.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . m2

(Total for Question 10 is 4 marks)

Do NOT write in this space.

85 m

36.6 m

Diagram NOT 
accurately drawn

15. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 3HR Q10:  4 Marks
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*P46917A01124* Turn over     
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11

10 cm

4 cm

BA

F

Diagram NOT  
accurately drawn

E D C
4 cm

20 cm

 

 The shaded shape is made by cutting a semicircle from a rectangular piece of 
card, ABCF, as shown in the diagram.

 FEDC is a straight line.
 The centre of the semicircle lies on ED.
 AF = BC = 10 cm,  AB = 20 cm,  FE = DC = 4 cm.

 Work out the perimeter of the shaded shape.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm

(Total for Question 11 is 3 marks)

16. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4HR Q11:  3 Marks


